2AM: mELAL
Hu: YUE SRS FEH(FEUXNSNL/NALTAI)

Sl XL J|BRE (el mR)
SN - HH-G(3) - NEAY - BaR ofatod g HimE2
DEgd 155,119,042 136,574,925 18,544,117

= 8,819,500
Xl 137,365,380
T 8,934,162
AT HEEYH HE(ZELXNANL/NERTAI) 54,895,650 50,662,380 4,233,270
= 8,562,000
Xl 40,923,380
= 5,410,270
Negd Detas 16,727,650 14,715,380 2,012,270
Xl 14,855,380
& 1,872,270
NSLYHFHM FX 143,000 123,000 20,000
201 Et2gH| 10,000 10,000 0
01 At 22/l 10,000 10,000 0
oXggd qRFX 10,000
202 odl 13,000 13,000 0
01 SUALI 13,000 13,000 0
OXggd URFZ 13,000
308 At XIEHSOIE 120,000 0 120,000
10 SO 2 SOIHEE & X EALA 120,000 0 120,000
OUsl=s P UNMES &It 100,000
OSdiet HHEIH Ifx 10,000
OERUSH LEZY Nz 10,000
NEMEALNEIAM 2 (=21) 190,400 197,500 A7,100
Xl 190,400
101 Q124 4| 115,400 110,000 5,400
X 115,400
02 J|Et&lE 4= 115,400 110,000 5,400
ogiztol M2A 2 57,700,000& 2 115,400
Xl 115,400
201 Et249H| 7,000 5,500 1,500
Xl 7,000
01 At 22| 7,000 5,500 1,500
OXGMEAHUNMEAM 2 7,000
Xl 7,000
202 48l 3,000 12,000 29,000
Xl 3,000
01 23 HI 3,000 12,000 A9,000
O MEALNMEAMN 29 oHl 3,000
Xl 3,000
207 & 20| 40,000 48,000 A8,000
Xl 40,000
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2AMN: ZEgE
U YA HRSY FB(FELXAWL/NALSA)
e Xged Jjet=E (St A L)
S E . ~rl(§131I) w%\m P Ol At o %M*‘—_,g HiR=2
TTTT o o=so0 - T 40,000 T 48,000 8,000
OL DEYENUO AREA 40,000
Xl 40,000
307 CI2t0| & 25,000 22,000 3,000
Xl 25,000
06 282 14,000 12,000 2,000
OoI2I0| B8 = 14,000
Xl 14,000
o7 da=2X=2=2 11,000 10,000 1,000
OEZzZ2 He=2 11,000
Xl 11,000
N2 Meta AHEAAL(2D) 3,200,250 3,090,880 109,370
Xl 2,976,980
= 223,270
403 XXM S 20| & 3,200,250 3,090,880 109, 370
Xl 2,976,980
& 223,270
01 IXSHHE2EX 3,200,250 3,090,880 109,370
OXEdH=SMERA AHBAIS 3,200,250
Xl 2,976,980
o 223,270
SOE FHAXSE MEWHH HEAH(=2D) 5,674,000 6,733,000 A 1,059,000
Xl 5,240,000
[ 434,000
403 XAIXISHH S AH=0|1 ™ 5,674,000 6,733,000 21,059,000
Xl 5,240,000
o 434,000
01 HIXHHI=EEX 5,674,000 6,733,000 A 1,059,000
O=0E FHAYXE MENHAH MEAY 5,674,000
Xl 5,240,000
T 434,000
CA FHAXSE MEHH HZAIH(2D) 7,520,000 4,571,000 2,949,000
Xl 6,448,000
° 1,072,000
403 XHXISHS R0l A 7,520,000 4,571,000 2,949,000
N 6,448,000
= 1,072,000
01 AIXEHAE2EX 7,520,000 4,571,000 2,949,000
O Al FHUXSE MEOH HEAS 7,520,000
Xl 6,448,000
= 1,072,000
NS MEDI|BIAE &= 12,089,000 14,787,000 22,698,000
= 8,562,000
Xl 477,000
° 3,050,000




SN 2HEHD
Y AT ANEY FE(FELNANL/AALTA)
9 XSMBIIHAIL &S (29 &)
. A -FB.O(EH) - NSAY - BES (PNE e HlRE2
SESATELEHLAUNT)(AES)(2D) 518,000 | 5,919,000 £6,401,000 |
N 477,000
== 41,000
403 XXM S K201 A 518,000 6,919,000 26,401,000
Xl 477,000
& 41,000
01 AR AEEX 518,000 6,919,000 26,401,000
OSESANT LS LBXR(LES) 518,000
N 477,000
= 41,000
FEOIZSHREFRHIGE SEMLE(Z2D) 8,562,000 0 8,562,000
= 8,562,000
403 X ESHHMSKE01™ 8,562,000 0 8,562,000
= 8,562,000
01 AtXISMA2E X 8,562,000 0 8,562,000
FEOIZSH LAY & N& 8,562,000
= 8,562,000
XSEIML AR K& 3,009,000 4,118,000 21,109,000
201 82| 17,000 17,000 0
01 At 22|l 17,000 17,000 0
OXNENLAY 22| 29 17,000
202 04l 10,000 10,000 0
01 2LHOIHI 10,000 10,000 0
OX Y dRF& 10,000
403 XIS A0 M 2,982,000 4,091,000 21,109,000
01 AXICSMA2EE 2,982,000 4,091,000 21,109,000
OHIFZ AKX HHHI A 237,000
O ZA FHaII| 55,000
O&#=E 22|02 =4 2,690,000
OnrE3|& M= - E5(2MA) 135,000
oontEotd T4 (21004) 950,000
Os2 ZH(4MA) 145,000
OAWE &EX(4MA) 630,000
Oti=2 -l (6IHA 155,000
OI1EH129H £) 675,000
N2 25,591,000 20,711,000 4,880,000
Xl 25,591,000
JZ=MED|IBE S, FUASESH, 3,957,000 2,800,000 1,157,000
;uaﬂ.aaana, oA OHLERNTER) (2D
Xl 3,957,000
403 XXM EXE0IH 3,957,000 2,800,000 1,157,000
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A DEEd
M AAE TS FS(IELNNL/NALEAI)
Sel: Xt@ENY (Ere):@R)
R — - T o w— ——r—— =_
 BA-EY-ES(EA) - NS AR - was | olew o meé%
T — X o7, ' ‘
01 XM= ES 3,957,000 2,800,000 1,157,000
OSASTANL(NLETXR Z2ML) 3,957,000
X 3,957,000
HEXNAIIBAEX R (EASHL RS ASHTUAZZ)( 16,675,000 12,162,000 4,513,000
23)
X 16,675,000
408 XXM SAH=01H 16,675,000 12,162,000 4,513,000
X 16,675,000
01 IXSHHMA2EE 16,675,000 12,162,000 4,513,000
OLAHLESA SFXNAE =2XH 16,675,000
X 16,675,000
XSHLX R (LFERXANL)(2D) 2,058,000 1,067,000 991,000
Xl 2,058,000
403 XXM S AH= 01 ™ 2,058,000 1,067,000 991,000
X 2,058,000
01 AHXISHMA2E = 2,058,000 1,067,000 991,000
OHEEAXNS HEAS 2,058,000
X 2,058,000
NEx=%E NFAME(2D) 2,901,000 4,682,000 21,781,000
Xl 2,901,000
403 XX &M S K20l ™ 2,901,000 4,682,000 £1,781,000
A 2,901,000
01 IXSHMA2EX 2,901,000 4,682,000 21,781,000
OXNAxR AEFXNA ALY 2,901,000
X 2,901,000
KRR S &2 st 488,000 449,000 39,000
2L OISSSHAE =& 488,000 449,000 39,000
201 -2l 80,000 67,000 13,000
01 At22t2iH 75,000 62,000 13,000
OlIESESHAY 2EXA 5,000
OlIE3SH L8t =& 70,000
02 332l 5,000 5,000 0
Ont=a=7| NLFFEAS 3| 5,000
202 OfH| 3,000 2,000 1,000
01 =W 0id| 3,000 2,000 1,000
OlISSSHAIY 2= 3,000
308 AXIEHSOIA 405,000 380,000 25,000
01 TUXSHBLEES 405,000 380,000 25,000
OUISESSH ALl XI& 375,000
0201748 OIE3SH R+AY QMEIE X3 30,000
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SA: BELHD
4 SOIE 48)|8 HF(seLdsd/5 - 5&)
oY sEMBEE X4 (E91:88)
: e — - ‘ — T— — T -
gjaer . | ERE | Hmee
: dl e = 3 ‘
5,811,000 4,836,000 975,000
5,811,000
SEdEsd =4 5,811,000 4,836,000 975,000
N 5,811,000
sSESHEHH(HZIR)(E)(2D) 5,811,000 4,836,000 975,000
X 5,811,000
403 TXIHH SN =01 & 5,811,000 4,836,000 975,000
X 5,811,000
01 XEHA2EER 5,811,000 4,836,000 975,000
OSESHUNELS d=XR(E) 5,811,000
X 5,811,000
OMZ B3t OIXl ML (SsY22/2sL At 404,500 2,224,200 41,819,700
OMz && Dl = 404,500 2,224,200 41,819,700
Mz B&tH DXl &= 50,000 60,000 A10,000
307 21201 A 50,000 50,000 0
04 CIZFHAAIRE X 50,000 50,000 0
ODMZ =™ Xid 50,000
OMZ Z43st 28 HOH 80,000 9,700 70,300
307 212+0| ™ 80,000 0 80,000
02 LHFMAMAE T 80,000 0 80,000
Ostd otEo/al NHE <8 DNz B 80,000
OMZ BatH 012 274,500 2,154,500 41,880,000
201 L2 Y| 100,000 100,000 0
03 A2 HI 100,000 100,000 0
OEsFclZ ¥ FHESZ ZII8M 100,000
202 o4l 2,500 2,500 0
01 =LHOII 2,500 2,500 0
ODMZ B3OS HRFX 2,500
307 2iztol & 172,000 152,000 20,000
04 QIZHHAIMRHE X 172,000 152,000 20,000
ODMZ JIXIML & BEE 98 Hat=dl 72,000
OMZ XH&EAHIH OIS JH=l 100,000
FAXNS 4o & SM(IEXLXNAMNL/XNALTAl) 93,156,700 78,267,500 14,889,200
X 90,631,000
=S 2,525,700
g3X9 heg 93,156,700 78,267,500 14,889,200
Y 90,631,000
= 2,525,700
2 202382l HotE3Y¥ =4(=31) 1,300,000 2,600,000 41,300,000
A 1,000,000
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SN BHUHD
Hu: AN 49 B FHBELXSNL/XY
el IR e

LV RE-ER cw(suu) LRV R oolar g ClimE==T
u — T
408 XHXIEHRIS K2 0| & 1,300,000 2,600,000 1,300,000
X 1,000,000
= 300,000
O XIS =S E 1,300,000 2,600,000 1,300,000
OH® U2 HOIBY =4 1,300,000
X 1,000,000
= 300,000
R 200 B2 B0 Z8(2D) 1,950,000 500,500 1,449,500
X 1,500,000
= 450,000
408 THXI RIS K20/ & 1,950,000 500,500 1,449,500
X 1,500,000
= 450,000
0T AR SRR =EE 1,950,000 500,500 1,449,500
OB 20l B2 HOII 4 1,950,000
X 1,500,000
= 450,000
97 gaD 0IEHE 012 Z8(2D) 2,080,000 390,000 1,690,000
X 1,600,000
= 480,000
408 THXISHHIS XH=01 & 2,080,000 390,000 1,690,000
X 1,600,000
= 480,000
01 AR =R E 2,080,000 390,000 1,690,000
0T YA DNISUYUIE X4 2,080,000
X 1,600,000
= 480,000
O 423 WOREOIE Z&(2D) 1,300,000 455,000 845,000
X 1,000,000
= 300,000
403 T RISHHS =01 & 1,300,000 455,000 845,000
X 1,000,000
= 300,000
0T AXI SRR =L E 1,300,000 455,000 845,000
OOl 425 WOMEIE X 1,300,000
X 1,000,000
= 300,000
AN N AR 2A 7,000 7,000 0
202 0t 7,000 7,000 0
ETEE 7,000 7,000 0
OTANY HLAMY XX 7,000
JEME)|PHEE, FUASSH, N AR, T 73,748,000 62,535,000 1,211,000
FLSH(FINS UR)(2D)
X 73,746,000




2A: 8L

FH: FIXNS 42 2 Y (IELXNINLE

el §3XNY pe

[NALECAl)

SA - =M. (5) - NSNS - B Ol ot J i
403 XXM S XH=01™ 73,746,000 62,535,000 11,211,000
Xl 73,746,000
01 RHXISHEEXE 73,746,000 62,535,000 11,211,000
OS+AEXANL(FFIXNSE XH) 73,746,000
Xl 73,746,000
Hatsel2d =4(=1) 6,794,000 4,661,000 2,133,000
Xl 6,020,000
& 774,000
403 NUXIEHHS K01 S 6,794,000 4,661,000 2,133,000
Xl 6,020,000
& 774,000
01 RtXICH =2 X 6,794,000 4,661,000 2,133,000
OTeseld =4 6,794,000
Xl 6,020,000
& 774,000
SNSNMEITZE HH(21D) 4,095,000 3,980,000 115,000
N 4,095,000
403 XHXICHHI S X 20| H 4,095,000 3,980,000 115,000
Xl 4,095,000
01 RtXICHAEE X 4,095,000 3,980,000 115,000
OSAN=MEIT-Z HE 4,095,000
Xl 4,095,000
SHEHZ FAEZIZ T4 (21) 1,884,700 474,000 1,410,700
Xl 1,670,000
T 214,700
403 XtXIEtH S X201 & 1,884,700 474,000 1,410,700
Xl 1,670,000
T 214,700
01 AXSHI=EX 1,884,700 474,000 1,410,700
OstEtd Fa&E2IZ =4 1,884,700
Xl 1,670,000
T 214,700
2 QW /T AS(LES YT /ABIET) 784,488 194,400 590,088
= 257,500
T 526,988
SENsEE FA 99,008 24,400 74,608
=SHE NFEIAAMNY FH 24,000 9,400 14,600
201 2| 4,000 2,000 2,000
01 At 22| dl 4,000 2,000 2,000
OLELAT DREAAVS 29 4,000
202 481 10,000 7,400 2,600
01 SLHA B 10,000 7,400 2,600
OL=EHINEEY gRFT 10,000
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2A: 8L
M. S U LT 4B (LB IUF/ULIEA)
H©Hel: HENFEY FH (ctel- & &)
SA - B SHEN) - RN -Bas | e | DEE limET
301 LEtE A= 10,000 0 10,000
06 2I2tel =2/ | 10,000 0 10,000
OLd=LsNsEsy gRFX 10,000
HEA/ATNFEHIEH 29 35,000 15,000 20,000
201 B3| 35,000 15,000 20,000
01 At 22l 8| 26,800 6,600 20,200
OARA AXE ¥ J&EH 2% 26,800
02 3244l 8,200 8,400 2200
OAR4! 22lH & 3332 8,200
=S5 HEEHMAIY FA 40,008 0 40,008
201 2Br249H| 40,008 0 40,008
01 At 22| | 40,008 0 40,008
OMRA(EXIII, cldl 40,008
s Jjetxyd 290,000 170,000 120,000
HSY BHE2R0 =4 290,000 170,000 120,000
201 2 BtE | 100,000 0 100,000
03 A2 | 100,000 0 100,000
OZLRLWIIESE XX 100,000
301 et A= 20,000 20,000 0
11 J|Et2 &3 20,000 20,000 0
ODMZ E3ta Al XIR 20,000
307 2I2t0l ™ 170,000 150,000 20,000
04 QIZ2HSHALAFRI E X 170,000 70,000 100,000
ODMZ T 3tah Al4 45,000
QH3EY IHME= 25,000
Qdg=E0IiIIE 8¢ 100,000
S80I =0l 38 I8 =4 395,480 0 395,480
= 257,500
& 137,980
NANSHEH 2Y(=1D) 232,000 0 232,000
= 232,000
307 QIz2to| & 232,000 0 232,000
= 232,000
10 MEISTAIEEHE2H 232,000 0 232,000
O=&o0lg=a NEF¥ES 2 232,000
= 232,000
SS0IEF2 XHEYs X (= 12,500 0 12,500
= 12,500
308 AXIHXMSOIA 12,500 0 12,500
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SN BEED
I IS AR (2HLIY) DIEHIIEH

e J123l (o)
SA-HM-E9(3) - NRAY - BEs | e | SEE HREZ
e - ) 10,800 020] 6w
01 AL 10,800 10,200 600
2EM2E =W - 10,800
203 JRFTH| 3,600 4,200 2600
BEA2H8 22| 3,600 4,200 2600
©20¢! 0|5t 300,000 «12& 3,600
2A2d J2ZH(ESDREHATF) 26,270 0 26,270
201 24| 17,170 0 17,170
01 AtR2elH| 14,570 0 14,570
ORAN2E MB22IH| 14,570
02 3322 2,600 0 2,600
ORM2g S324H| 2,600
202 o4l 7,000 0 7,000
01 = LU b 7,000 0 7,000
ORAM2g =UHHI 7,000
208 e R=AbI 2,100 0 2,100
04 2N2EYRFEH| 2,100 0 2,100
©10e! 0I5t 175,000 « 128 2,100
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